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23 EXERCISE - 1.1
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Use the appropriate symbol >, < = to fill in the blanks

(i) 3 -5 G 2 5-4
(iii) 84 3 Gv) -6 5-0
) 5 8-3 wi)y of |-3

Arrange the following integers in ascending order.
(i) -2,12,-43,31,7,-35,-10 |

(ii) -20,13,4,0,-5,5

Arrange the following integers in descending order.
() 0,-7,19,-23,-3,8,46

i) 30,-2,0,-6,-20,8

Evalute :-

() 30-1-211 (i) I-251--18I (iii) 6 — 14 (iv) 1 -1251 + 1110l
Fill in the blanks :- _

(i) 0 is greater than every ..'=2 allV€integer.

(i) Modulus of a negative integer is always positive

(iii) The smallest postive integer is ..... . ;

(iv) The largest negative integer is . .

(v) Every negative integer is Jess than every p05|twe1nteger
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